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M_.A. Economics 3rd Semester
MAE-301: ECONOMICS OF DEVELOPMENT

Time Allowed—3 Hours] [Maximum Marks—1 00

Note :— Attempt five questions in all. Q. no. 1 is compulsory.
Rest of the four can be attempted by choosing one
from each of four Units. All questions carry equal
marks (20 marks).

1. Answer the following in brief :
@ Whatis economic growth ?
(i) What is Physical Quality of Life Index ?
(iii) What is Technological Pualism ?
(iv) Whatis Pre-conditioné for Take-off stage ?
(vy What do you mean by Unbalanced Growth ?
(vi) Define Low Level Equilibrium Trap.
(vii) What is Export-led strategy ?
(viii) What are external sources of capital formation ?
(ix) What is capital formation ?
(x) Give main assumptions of Meade's model.
- UNIT-
2. Explain the Kuznets Hypothesis.
3. Critically examine Kaldor's model of economic growth.
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UNIT-1I
4.  Discuss Marxian theory of development.
5. Explain the views of Lewis on dualistic growth.
UNIT-11I
6. Explain in detail the Unbalanced Growth theory.

7. Do you think that agriculture is necessary but not sufficient

for economic growth ?

UNIT-1V

8.  Explain in detail the role of foreign investment in economic

development.

9.  Compare and contrast the import substitution and export-

led strategies for their role in economic development.

(Punjabi Version)
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Time Allowed—3 Hours]

Exam. Code : 213103
Subject Code : 5666

M.A. Economics 3" Semester

INTERNATIONAL ECONOMICS-I
Paper—MAE-302

[Maximum Marks—100

Note :— Attempt five questions in all. Question No. 1 is

1.

compulsory. Rest of the four questions can be
attempted by choosing one from each Unit. All
questions carry equal marks (20 marks).

Write short answers (each carrying 2 marks) and it is
compulsory :

(i) Define comparative advantage.

(i) Define factor price equalisation theorem.

(i) Define immiserzing growth.

(iv) What do you mean by static gains from trade ?
(v) Describe dynamic gains from trade.

(vi) Define quotas.

(vii) Define factor endowments.

(viii) What do you mean by effective rates of tariffs ?
(ix) Define nominal tariffs.

(x) Distinguish between inter-industry and intra-industry
trade.
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UNIT-I

Explain the absolute advantage theory of international trade.
OR
Describe the opportunity cost theory of international trade.
O UNIT-H
Write a detailed note on Rybczynski theorem.
OR

Discuss the impact of intra industry trade on developing
‘countries.

UNIT-1III
Discuss the various concepts of terms of trade and their
OR

Discuss the empirical relevance and policy implications of

secular deterioration hypothesis for less developed countries.
UNIT-1V

Discuss the partial equilibrium analysis of tariffs,
. OR .

Explain the economic effects of quotas on trade partners.

(Punjabi Version)
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Exam. Code : 213103
Subject Code: 5667

M.A. Economics 3™ Semester

INDIAN ECONOMY
Paper—-\iAE-sm

Time Allowed—Three Hours] ©°  [Maximum Marks—100

Note :— Attempt 10 short answer type questions which are.
compulsory and attempt ONE long answer question
from each unit of Section B. Short answers questions
carry 2 marks each and long answer type questions
carry 20 marks each.

SECTION—A

Note :— Short Answer Type Questions (All questlons in thls
section are compuilsory) :

1. (a) Discuss briefly the method of computing National
Income in India. :

(b) Explain the main objectives of Planning in India.

(c) What are the reasons behind the population explosion
in India ?

(d) State briefly the nature of Food Problem in India.

(¢) What are the objectives of Indian Agricultural Price
Policy 7 .

(f) Explain the relationship between agriculture and
industrial sector.

(g) What is Private-Public parinership ?

(h) What do you mean by MNCs ?

() Write down the targets of 10" Five Year Plan.

(3) Discuss the causes of deficits of the Balance of Payment.
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SECTION—B
Note :— Long Answer Type Questions (Attempt ONE question
from each unit) :
UNIT—I

in growth of National Income.

decentralised planning in India. Explain important limitations
of Nat10na1 Income estimates in India.
UNIT—II
4.  Explain the important measures taken by Government of
- India to reduce poverty in the Country. How far have
these measures been successful ?
5. Define Inflation. What are the causes of inflation ? Discuss
its 1mpact on the distribution of income.
UNIT—III
6. Explam the position of Balance of Payments of India
since 1991. What are the main factors responsible for
increasing currént account deficit in the recent years ?
7. What is meant by Cooperative Farming ? Discuss its
features and- explam how cooperative farming is useful
for India. -
; UNIT—IV
8. Critically examine the main features of the new Industrial
Policy of 1991. Indicate the changes in the Industrial
Policy Regime during last decade.
9. Describe the need for export promotion in India. Suggest
measures to increase exports from India.
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2. Discuss the factors responsible for Inter-state variations.

3. Discuss the need, importance and objectives of"

8T 1 —
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(Punjabi Version)
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Exam. Code : 213103
Subject Code : 5670

M.A. (Economics) 3™ Semester

THEORY OF STATISTICS
Paper—MAEQO-3

Time Allowed—3 Hours] [Maximum Marks—100

Note :— Attempt FIVE questions in all. Question No. 1 is

compulsory and attempt ONE question from each
of FOUR units.

1. (1) Explain Chebychev’s in equality.
(1)) What is Beta distribution ?

(iii) What do you mean by Axiomatic definition of
probability ?

(iv) Define maximum likelihood estimators.
(v) Define ‘t’ distribution.
(vi) Explain level of significance.

(vii) Distinguish between null and alternative

hypothesis.
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(viii) Distinguish between parametric and non-parametric
test.
(ix) What is a Kendall’s concordance test ?

(x) What do you mean by interval estimation ?
10x2=20

UNIT—I
2. (a) State and prove Baye’s inequality.

(b) Find the mean and variance of Binomial

distribution. 20

3. Define the normal distribution and derive its main

properties. 20
UNIT—II
4. (a) Explain the properties of a good estimator.

(b) What is a Chi-square variate ? Derive its moment
generating function and hence its mean and

variance. 20

5. Define ‘F’ distribution and derive its main properties.
20
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UNIT—III

6. (a) Explain the procedure of testing a statistical

hypothesis.

(b) A random sample of size 16 has 53 as mean. The
sum of the squares of the deviations taken from
mean is 135. Can this sample be regarded as
taken from the population having 56 as mean ?
Obtain 95% confidence limits of the mean of the

population.

[For V.= 15, t... = 2.13] 20

0.05

7, VPora 2 = 2 contingency table :

Prove that
N(ad - bc)

! 20
(a+b)(a+c)(c+d)(b+d)

Chissquare

UNIT—IV

8. Explain briefly the various types of non-parametric
tests and specify the situation in which they are

applicable. , 20
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9.

(a)

(b)

ollege Library, Jalandhar

Use the sign test to see if there is a difference
between the number of days required to collect
an account receivable before and after a new

collection policy. Use the 0.05 significance level.
Before:'33' 36 -47 “32739" 418472032 42
After - 35 29438 34 37 45288832 30 38

The following data represent the weights (in kg)
of personal luggage carried on an aircraft by a

member of 2 base ball clubs :

ClubA: 34 39" 41 28 33

yClal B 3040 355139 56

Use Mann;Whitney U test with o = 0.05 to test

the hypothesis that the two clubs carry the same
amount of luggage on the average. 20
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(Punjabi Version)
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Exam. Code : 213103
Subject Code : 5672

M.A. Economics III" Semester

MAEO-5 : INDUSTRIAL ECONOMICS
Time Allowed—3 Hours] [Maximum Marks—100

Note :— Section-A : Consists of ten questions and is
compulsory. Each question carries

2 marks.

Section-B : Consists of eight questions. Attempt
one question from each unit. Each

question carries 20 marks.

SECTION-A

—

Briefly describe the passive behaviour of the firm.
What are the objectives of the firm ?

What do you understand by organization of a firm ?
Explain the factors affecting location of industry.
Explain briefly the constraints on a firm's growth.
What is capacity utilization ?

Throw some light on regional industrial growth.

What are the issues faced in industrial proliferation ?

ot i S R G

What is Net Present Value (NPV) ?
10. What are safety nets for industrial labour ?
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SECTION-B ‘
UNIT-I
Explain in detail the concept and organization of a firm,

Describe the Weber's theory of industrial location. Also

highlight the importance of location triangle.
UNIT-II
What is investment expenditure ? Give a detailed account
of methods of evaluating investment expenditure.
What is capacity utilization ? Explain the concept and
measurement in context with Indian FEconomy.
UNIT-III
What are Multi-National Corporations ? How do these

transfer technology ? Also throw some light on issues
related with TRIMs.

Give a detailed account of issues related with industrial
proliferation and environmental preservation,

UNIT-1V
Give a detailed account of structure of industrial labour.
What are the issues that are faced by industrial labour ?

Explain in detail the relationship between globalization

and industrial labour.
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